ROOF ASSEMBLY TYPE 1 (EPDM) - LAVALLEEBRENSINGER ARCHITECTS

0_The Park Danforth_R15 06-05-2015_scott.timmons.rvt

C:\Projects\13-059-0

6/10/2015 3:51:46 PM

REFERENCE WALL SECTION J1/A3.1
A 155 Dow Street, Suite 400, Manchester, NH 03101
IIIIIIIIIIIIIIIIIIIIIIIIIIII _ ' ; ,
4 =.-.....============================================l=========================== 40 Cambridge Street, Charlestown, MA 02129
EEENEEEE EEEEEEEEEEEEEEEEEEEEEEEE EEEEEE NH: 603.622.5450 MA: 617.398.2035 www.LBPA.com
EOD. EESEEENEEESEEEN NN e e e T - 603.622. . 617.398. LBPA.
EEENEREEEEEEEEEE EEEEEEEEEEE RN
e e e NS EEENESN NSNS ENESEEREREEEE EEmEEERES
<] O e T NN SRS EE R
| e e e e e e e e e
| e = =
AREEEEEEEE NN H
| S E=mEEEEEE EamamsnnssNNSSSssssssRREERESEREEEREE
| — [ VAN A
I WALL ASSEMBLY TYPE 1 (FACING S E— A
| BRICK - SEE ELEVATIONS FOR ARt B 1 o
g , COLOR) - REFERENCE WALL
092116 - GYPSUM BD-5/8" B | SECTION J1/A3.1 ROOET.O.S EERTSTRAR R
092116 - MTL STUDS-3 5/8" : il ARSI 181'- 11 5/8" [ERRE et M o
A . I o AN o [oe a
054000 - SILL BARRIER ) .
033000 - CONC SLAB-ON-DECK(S)\ 5 g 072100 - SAFING INSUL
B 1N il I —— | B - LEVEL 2 Y
< NN Y. RIS R N N2 B 1 n PR SN
4 aoe LT T e e e T YA | 079005 - SEALANT & BACKER
E < s S o S E Pk S T N - I 051200 - STL BEAM(S) ; 054000 - CFMF PLATE
sl ' 072100 - SAFING INSUL PRI 072500 - TRANSITION MEMBRANE
e A Y <»4 I RPN
MR R I = | 053100 - POUR STOP (S) 072119 - FOAMED-IN-PLACE INSUL B
77777777777777777777777777777777777777777 o TN e 054000 - CFMF 3-5/8" STUD NI —
N R e 072500 - TRANSITION MEMBRANE
/ > R ca
) SRR IN 047200 - PRECAST CORNICE
054000 - CFMF 3-5/8" STUD 092116 - MTL STUDS-3 5/8 i o - > - ) 17 i L_ N —
—— < - - Al R
054000 - FRAMING CLPSFOR _ 092116 - FRAMING CLIPS FOR FIREPROOFING VAR RS U B9 ! Feot Ly 042000 - CAVITY VENT
FIREPROOFING | 2 \ {
= N [T
N i
a
051200 - STL BEAM(3) ’ y | 07 2100 - RIGID CAVITY WALL INSUL BD
A - SHIPLAP AT DEFLECTION JOINT
078100 - SPRAY APPLIED !
FIREPROOFING IN/AL 042000 - WALL DRAINAGE BAFFLE ’ .
C6 [TYPICAL WALL AT 3' ROOF OVERHANG W/CORNICE C
_ i | 310
—
1-5"
sy o : 1 I
' ' j)> N I ) 07 2500 - SPRAYED COATING MEMBRANE
£ ‘ ] L , —_—
' ]l 002116 - MTL STUDS.3 5/8" > g A 0420 00 - WALL DRAINAGE BAFFLE
o o ' ——— 054000 - SILL BARRIER
092116 - MTL | I
STUDS-35/8" all = ¢ : . , I\ 07 2500 - MEMBRANE FLASHING
i , . ‘ ‘
o 1 EOD |l ’</"" —_— 078400 - FIRESTOP
] : 042000 - WEEP HOLES 079005 -SEALANTﬂ\’/~ -
. . | | ! //
o — - oo —r—— - ! l I » /S o 7LEVEL 5 D
£ 4\ P e s o 1 j 171'-55/8"
fellel o T s T S N A . Y | —a
\04 2000 - DRIP FLASHING eI e e e o | e 1 078400 - SAFING INSUL The Park Danforth
- B T T N LA \iA\j’ Yoo o | == -——
092116 - 055000 - LOOSE LINTEL et e e | H j 47/ ﬁ 042000 - WEEP HOLES
GYPSUM BD-5/8" e ey SN =5 A P 051200 - STL BENT PLATE(S)
079005 - SEALANT & BACKER ST U A
S L e o R : ~—————042000 - FACING BRICK SOLID
06 1054 - ISOLATION STRIP 08 43 13 - STOREFRONT DEFLECTION HEAD PRI REAS < ) ! CUTTOFIT
- o A 3 042000 - DRIP FLASHING
079005 - SEALANT 072100 - FOAMED-IN INSULATION o R
072100 - SAFING INSUL T | \——— 079005 - SEALANT & BACKER
——— 061054 - FR WD BLOCKING al
———07 2500 - TRANSITION MEMBRANE . ‘I 051200 - STL RELIEVING ANGLE(S)
092116 - MTL STUDS-3 5/8" l ) 7
0880 00 - INSUL GLASS-CLEAR N RENOVAT'ONS AND
078100 - SPRAY APPLIED FIREPROOFING N E
051200 - STL BEAM (S) | WALL ASSEMBLY TYPE 1 (FACING I ADDlTlONS
, BRICK - SEE ELEVATIONS FOR
_\“L_,._ 054000 - CFMF 3-5/8" STUD — : 4 ¢ COLOR) - REFERENCE WALL
q o 0843 13 - ALUM STOREFRONT FRAMING ST e e h SECTION J1/A3.1
054000 - FRAMING CLIPS FOR Lo e ] Al
FIREPROOFING e e \ :l
— 07 2500 - TRANSITION MEMBRANE
N ) (
!
3 /': 07 21.00 - RIGID CAVITY WALL INSUL BD
<l SHIPLAP AT DEFLECTION JOINT
T
B 777 Stevens Ave
Rl Portland, ME 04103
TYPICAL FLOOR AT EXTERIOR WALL DETAIL &
F1 |STOREFRONT HEAD F6 |TYPICAL WALL AT RELIEVING ANGLE DETAIL E
A311 | =10 i | 3e10
A A N NO. DESCRIPTION DATE
1-5" .
-5 T - i -5
092116 - GYPSUM BD-5/8" - EOD. I
-l 092116 - MTL STUDS-3 5/8" | It 07 2500 - SPRAYED COATING MEMBRANE
N | WALL ASSEMBLY TYPE 1 (FACING | ) - IIS 072500 - TRANSITION MEMBRANE
= BRICK - SEE ELEVATIONS FOR 054000 - SILL BARRIER 1 T
COLOR) - REFERENCE WALL 079005 - SEALANT , | - _ Al \E/;VQELKASSSEEEMEBLLEYVI\\ﬁgle(EAC\)(F:JNG
) SECTION JU/A3.1 033000 - CONC SLAB-ON-DECK (S)j‘\‘ N RS 078400 - FIRESTOP o ! COLOR) - REFERENCE WALL
' | |
= 072500 - SPRAYED COATING MEMBRANE — S = I - LEVEL3 ' SECTION JT/A3 1
o e , S T \ 150' - 5 5/8" 07 21.00 - MINERAL FIBER BATT INSUL I
- || ~ . % 4, r L \4' . -0 N <« & ) ( _ " -
l T SR L S P MIN 12 | ‘ /| 072500 - MEMBRANE FLASHING G
| Tt et S e T 078400 - SAFING INSUL | . e
5 n ~ 042000 - WALL DRAINAGE BAFFLE e e T | rAVAY 042000 - WALL DRAINAGE BAFFLE
i R = 053100 - POUR STOP (S)
' )] ¢ AR T S ) ——— —
H 072500 -MEMBRANE FLASHING | Lo e ] Lo z | 07 2500 - TRANSITION MEMBRANE
054000 - SILLBARRIER S I R e e e T T ek \( e NI I o K 054000 - SILL BARRIER —
| ,\/II 0420 00 - WEEP HOLES L e e S e T e T e e B ;,~| WALL ASSEMBLY TYPE 1 (FACING . 042000 - WEEP HOLES
079005 - SEALANT mll |t AR R | | B 1. BRICK- SEE ELEVATIONS FOR 072100 - RIGID PERIMETER INSUL BD , \ 042000 - DRIP FLASHING
033000 - CONC SLAB-ON-DECK (S) [~ : Y || R COLOR) - REFERENCE WALL 079005 - SEALANT p
} B on a SECTION JU/A3.1 321313 - CONCRETE WALK
R I = 042000 - DRIP FLASHING LEVEL 1 ST (| SR \ Ll 033000 - CONC SLAB-ON-GRADE (S) AN LEVEL 1 EXISTING
N S o o 128' - 3 5/8" e \ -
el e T e e T LT T 0 | B , TR P BN BUILDING
DI ae e et T HUE] B B Il 07 2500 - TRANSITION MEMBRANE R IR 126'- 11 5/8"
LRI S L SR LV UL AR SAPSSEIS DISRINERCSLANE I FOUNDATION WALL ASSEMBLY - 092116 - MTL STUDS-3 5/8" SR R Rl A SRR | - +0420 00 - GROUT SOLID +
R | REFERENCE WALL SECTION J1/A3.1 ISR (| B A P P | R A
R "';| - al ¢ . T e S R | <—=——+-0330 00 - EXPANSION JT FILLER H
SRS L ,\l;i ) ) cjqn qAA o a7 7’Ai':4\/:"v A: 4 : o
777777777777777777777777777777777777777 R | 042000 - GROUT SOLID = 054000 - CFMF 3-5/8" STUD R NP TR il A
| S B | 071400 - FLUID-APPLIED 051200 - STL BEAM (S) e | . — 11 T[] ol CONTENT.
R | WATERPROOFING SRS (R A 072100 - SHEET VAPOR RETARDERT T 115 IR M
SRR 078100 - SPRAY APPLIED FIREPROOFING SIS 1 ‘ ‘ SRR WALL SECTION DETAILS
051200 - STL ANGLE (S) RN | Bl
e e e | 1 a
DR — = = AT || BRI ‘ T3
A L < I SRR NS 7 | — - -
R R T P — 1= Iv //\ 5 ,::I . -~ ==l
EN - a T 4\\ PEEC 5 - . — _— T T T ’ .
B T A N — || |— 09 2116 - FRAMING CLIPS FOR FIREPROOFING e v :I 0725 00 - TRANSITION MEMBRANE i ) e B DRAWN BY: RH
\ AP A WP PITAT - \ N 11| T I I
. A S N Al | 11— 054000 - CFMF DEFLECTION HEAD ‘ { 072100 - RIGID PERIMETER INSUL BD= 11— l, R A R L | PROJECT NO: 13-059-00
R S PR o [ - MAINTAIN 3/4" GAP | i 07 21.00 - RIGID CAVITY WALL INSUL BD | | | B T e RO s
S P T B R S T ; SHIPLAP AT DEFLECTION JOINT 033000 - CONC FOUNDATION (S)- e T e e T g N, | ,
R RSN RSO RPN — = N ————= — == D T e e | DATE: 06/05/2015
" N T UL A — | |— i Sia L NSRS i e p—
e T T | = [[E=ITE=]; AR RS PRI
i . oyl e L1 h W o | el e T e gy i 1
RS SISV e [ p— : Lo T e gt [ Y o Y Y SCALE: 3'=140"
? D TS A PR PR \"‘ o ;{:I — | —] ] . ‘ ‘ T o U B ]: NumpL LI et B B
B P R e == x T = TH T RN N o e
S Aj 4 ; IR S R j\A’:f\l — 1 = /\I A3 11
S I P Lt | .
Project Phase
100% CONSTRUCTION DOCUMENTS
J1 | TYPICAL WALL BRICK SHELF AT GRADE J6 | TYPICAL EXTERIOR WALL AT FLOOR J11 |TYPICAL BRICK SHELF FOUNDATION AT SIDEWALK ] COPYRIGHT © 2015 BY LAVALLEEIBRENSINGER PROFESSIONAL
A3.11 3'=10" A3.11 3'=10" A3.11 3"=1-0" NO REPRODUCTION WITHOUT PERMISSION.

1 2 3 4 5 6 7 8 9 10 11 12 13 14


scott.timmons
Stamp


